1.
假設A、B、C皆為n × n之任意矩陣，且下列有五個敘述：( AB = BA; ( (A + B)2 = A2 + 2AB + B2; ( 若A不為零矩陣且AB = AC，則B = C; ( 
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。這五個敘述中，有幾個是恆成立的？(A) 1個  (B) 2個 (C) 3個  (D) 4個  (E) 5個。

2.
設矩陣 
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，則下列何者為X之特徵值(eigenvalue)？(A) 3  (B) 1  (C) 1  (D)3  (E) 5。
3.
若
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4.
若
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，則其通解為何？(A)
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5.
若
[image: image20.wmf]0

2

2

2

3

=

+

¢

-

¢

¢

+

¢

¢

¢

y

y

x

y

x

y

x

，則其通解為何？(A)
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6.  Find the inverse Laplace transform
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7.  Find the Laplace transform of
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 is shown in the below figure.
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8.  Find 
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9.  Use the Fourier series to find 
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10. Use the Fourier series to find 
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解答：
1. (A)

2. (C)

3. (B)

4. (D) 
5. (D)
6. (A) 
7. (B)
8. (C)
9. (D)
10. (A) 
_1418118488.unknown

_1419167973.unknown

_1419168331.unknown

_1419168868.unknown

_1419168976.unknown

_1419169069.unknown

_1419169111.unknown

_1419168881.unknown

_1419168577.unknown

_1419168839.unknown

_1419168847.unknown

_1419168783.unknown

_1419168348.unknown

_1419168071.unknown

_1419168306.unknown

_1419168313.unknown

_1419168254.unknown

_1419167987.unknown

_1419168014.unknown

_1419167984.unknown

_1419167424.unknown

_1419167551.unknown

_1419167661.unknown

_1419167859.unknown

_1419167645.unknown

_1419167529.unknown

_1419167539.unknown

_1419167520.unknown

_1418127525.unknown

_1419167297.unknown

_1419167322.unknown

_1419167294.unknown

_1418118652.unknown

_1418126713.unknown

_1418127426.unknown

_1418126637.unknown

_1418118556.unknown

_1418116099.unknown

_1418116389.unknown

_1418118357.unknown

_1418118419.unknown

_1418118153.unknown

_1418116166.unknown

_1418116190.unknown

_1418116143.unknown

_1418112398.unknown

_1418112462.unknown

_1418113676.unknown

_1418112436.unknown

_1418112351.unknown

_1418112381.unknown

_1418112303.unknown

_1418111683.unknown

